Palladium-Catalyzed Negishi Cross-Coupling Reactions
of Unactivated Alkyl Iodides, Bromides, Chlorides, and Tosylates

Jianrong Zhou and Gregory C. Fu*

Department of Chemistry, Massachusetts Institute of Technology
Cambridge, Massachusetts 02139

Supporting Information
I. General

The following reagents were purchased: N-methylpyrrolidinone (NMP; anhydrous in a
Sure-Seal bottle; Fluka), Pdy(dba)s (Johnson Matthey), N-methylimidazole (NMI; stored
over 4 A molecular sieves; Avocado), PCyp3 (Strem), PCy3 (Strem), P(i-Pr)3 (Strem), P(t-
Bu))Me (Strem), P(t-Bu)s (Alfa-Aesar), P(n-Bu)s (Sigma), PPh3 (Alfa-Aesar), P(o-Tol)s
(Strem), P(2,4,6-trimethoxyphenyl)z (Strem), P(2-furyl); (Strem), Cy,P(CH),PCy» (dcpe;
Strem), 1,3-bis(mesityl)-4,5-dihydroimidazolium tetrafluoroborate (Strem), P(OPh)s
(Aldrich), n-BuZnBr (0.5 M in THF in a Sure-Seal bottle; Aldrich), 2-ethylhexylzinc bromide
(0.5 M in THF in a Sure-Seal bottle; Aldrich), cyclohexylmethylzinc bromide (0.5 M in THF
in a Sure-Seal bottle; Aldrich), 4-pentenylzinc bromide (0.5 M in THF in a Sure-Seal bottle;
Aldrich), 5-cyano-5-methylhexylzinc bromide (0.5 M in THF in a Sure-Seal bottle; Aldrich),
6-ethoxy-6-oxohexylzinc bromide (0.5 M in THF in a Sure-Seal bottle; Aldrich), 1-
phenylvinylzinc bromide (0.5 M in THF in a Sure-Seal bottle; Aldrich), PhZnBr (0.5 M in
THF in a Sure-Seal bottle; Aldrich), 1-methylvinylmagnesium bromide (0.5 M in THF in a
Sure-Seal bottle; Aldrich), 2-methyl-1-propenylmagnesium bromide (0.5 M in THF in a
Sure-Seal bottle; Aldrich), p-methoxyphenylmagnesium bromide (0.5 M in THF in a Sure-
Seal bottle; Aldrich), lithium hydride (powder; stored in a glove box; Aldrich), titanocene
dichloride (stored in a glove box; Strem), zinc chloride (anhydrous; Strem), zinc bromide
(anhydrous; Strem; dried at 150 °C overnight under vacuum and stored in a glove box), 2-
butyne (Avocado), 1-phenyl-1-propyne (Aldrich), 1-bromo-3-benzyloxypropane (Aldrich),
n-decyl bromide (Alfa-Aesar), 2-cyclohexylethyl bromide (Aldrich), 1-bromo-3-
phenylpropane  (Aldrich), 1-bromo-3-(t-butyldimethylsiloxy)propane  (Aldrich), 7-
bromoheptanenitrile (Aldrich), n-decyl iodide (Avocado), n-dodecyl p-toluenesulfonate
(Acros), n-decyl chloride (Aldrich), 1-bromo-6-chlorohexane (Avocado), 2-(3-
bromopropoxy)-tetrahydro-2H-pyran (Aldrich), 4-chlorobutyraldehyde diethyl acetal

S-1



(Alfa-Aesar), ethyl 6-bromohexanoate (Avocado), 2~(3-bromopropyl)-1H-isoindole-
1,3(2H)-dione (Avocado), 6-bromohexanoyl chloride (Avocado), 2-picoline (stored over
KOH pellets; Aldrich), diethylamine (Avocado), 3-cyclohexenylmethanol (Aldrich), 11-
undecenyl alcohol (Alfa-Aesar), tetrafluoroboric acid (48 wt% in water; Aldrich).

THF was dried by passage through a neutral alumina column. 6-Bromohexyl pivalate
was prepared according to a literature procedure." The liquid alkyl halides/ tosylates were
purged with argon before use.

All reactions were conducted in oven-dried glassware under an inert atmosphere with
magnetic stirring.



II. Preparation of Substrates and [HPCyp3]BF,

These procedures have not been optimized.

NN
O

2-(3-Iodopropyl)-1H-isoindole-1,3(2H)-dione [5457-29-4]* (Table 4, entry 2). A
solution of 2-(3-bromopropyl)-1H-isoindole-1,3(2H)-dione (3.00 g, 11.2 mmol) and Nal
(8.40 g, 55.8 mmol) in acetone (anhydrous; 25 mL) was refluxed for 14 h. The solvent was
then removed, and the resulting residue was extracted (CH2Cly/10% NaSy03 solution).
The CH)Cl, layer was dried over anhydrous MgSOy, and the solvent was removed to
give 3.52 g (100%) of the product as a yellow solid . The product was stored in the dark at
0 °C.

TH NMR (CDCl3, 400 MHz): § 7.87-7.84 (m, 2H), 7.76-7.72 (m, 2H), 3.78 (t, | = 6.8 Hz,
2H), 3.18 (t, ] = 7.2 Hz, 2H), 2.26 (tt, ] = 7.2, 6.8 Hz, 2H).

13C NMR (CDCl3, 100 MHz): § 168.7, 134.5, 132.4, 123.8, 39.0, 33.0, 1.7.

6-Hydroxyhexanoamide [4547-52-8].° A suspension of e-caprolactone (10.0 g, 87.7
mmol) in a conc. aqg NHj3 solution (100 mL) was vigorously stirred at r.t. for 12 h. Then,
the water was removed at 80 °C on a rotary evaporator, and the resulting solid was
dissolved in CHyCl, (20 mL) and precipitated with EtyO (20 mL). After vigorously stirring
the mixture for 5 min and then letting it stand for 4 h, the white solids were collected by
filtration and washed sequentially with EtOH and Et;O. Concentration of the filtrate
furnished additional crystals. Total yield: 8.30 g, 72%.

TH NMR (CD3CN, 400 MHz): § 6.28 (br s, 1H), 5.85 (br s, 1H), 3.50 (t, ] = 6.6 Hz, 2H),
2.87 (br's, 1H), 2.16 (t, ] = 7.4 Hz, 2H), 1.61-1.47 (m, 4H), 1.39-1.33 (m, 2H).

13C NMR (CD3CN, 100 MHz): § 176.0, 61.8, 35.6, 32.7, 25.7, 25.6.

HRMS (ESI): Caled for CgH14NO (M+H)*: 132.1019. Found: 132.1020.



NC/\/\/\OTS

6-(p-Toluenesulfonyloxy)hexanenitrile (Table 4, entry 4). THF (20 mL) and Et;N
(2.90 mL, 20.8 mmol) were added to a flask containing 6-hydroxyhexanoamide (2.48 g,
18.9 mmol) and p-toluenesulfony! chloride (4.31 g, 22.6 mmol). The suspension was stirred
at 50 °C for 14 h. Then, the solvent was evaporated, and the resulting residue was purified
by flash chromatography (pentane/EtOAc 10:1), which afforded 0.70 g (14%) of the
product.

TH NMR (CDCl3, 400 MHz): § 7.78 (d, ] = 8.3 Hz, 2H), 7.37 (d, ] = 8.0 Hz, 2H),4.03 (t, ] =
6.2 Hz, 2H), 2.46 (s, 3H), 2.34 (t, ] = 7.1 Hz, 2H), 1.73-1.59 (m, 4H), 1.52-1.46 (m, 2H).

13C NMR (CDCl3, 100 MHz): § 145.4, 133.2, 130.4,128.3,119.8, 70.3, 28.5, 25.2, 25.1, 22.1,
17 4.

IR (thin film): 2943, 2871, 2245, 1598, 1357, 1176 cm-1.

HRMS (ESI): Caled for C13H17NNaO3S (M+Na)*: 290.0827. Found: 290.0815.

| N\ Cl

=

2-(7-Chloroheptyl)pyridine [237763-54-1]* (Table 4, entry 6). n-BuLi (2.65 M in
hexane; 5.7 mL, 15 mmol) was added dropwise to a solution of 2-picoline (1.46 mL, 15
mmol) in THF (8 mL) at -78 °C. The resulting red solution was warmed to r.t. over 20
min, and then it was transferred to a Schlenk tube that contained a solution of 1-bromo-6-
chlorohexane (2.24 mL, 3.00 g, 15 mmol) in THF (8 mL) at =78 °C. The mixture was then
warmed to r.t. and stirred for 12 h. The reaction was quenched with MeOH (2 mL), and
the solvents were removed under partial vacuum. The resulting oil was distilled (0.2 Torr,
93-95 °C) to give 2.01 g (64%) of the product as a yellow oil.

1H NMR (CDCl3, 400 MHz): § 8.53 (d,J=41Hz, 1H),7.59 (td, ] = 1.8, 7.7 Hz, 1H), 7.14
(d,]=7.8 Hz, 1H),7.10 (dd, ] = 4.9,5.9 Hz, 1H), 3.53 (t, ] = 6.8 Hz, 2H), 2.79 (t, ] = 7.7 Hz,
2H), 1.80-1.71 (m, 4H), 1.47-1.37 (m, 6H).

I3C NMR (CDCl3, 100 MHz): § 162.7, 149.6, 136.7, 123.1, 121.3, 45.6, 38.8, 33.0, 30.2, 29.6,
29.1,27.2.

S-4



o)

EtzN)LM:\Br

N,N-Diethyl 6-bromohexanamide [150514-56-0] (Table 5, entry 5). 6-Bromohexanoyl
chloride (3.93 mL, 25.0 mmol) was added dropwise over 10 minutes to a 0 °C solution of
DMAP (54 mg, 0.25 mmol), EtzN (5.20 mL, 37.5 mmol), and Et;NH (2.61 mL, 25 mmol) in
CH2Cl; (50 mL). The resulting mixture was stirred at 0 °C for 1.0 h, and then the yellow
suspension was passed through a pad of silica gel (washing with Et)O). The filtrate was
concentrated, and the residue was distilled under partial vacuum (150 mTorr, 95 °C) to
give 6.06 g (99%) of the desired product as a colorless oil.

TH NMR (CDCl3, 400 MHz): § 3.44-3.28 (m, 6H), 2.31 (t,]=73Hz,2H),1.89(dd, ] = 7.1,
6.9 Hz, 2H), 1.68 (dd, ] = 7.6, 6.7 Hz, 2H), 1.49 (dd, ] = 7.9, 7.3 Hz, 2H), 1.17 (t, ] =7.1Hz,
3H), 1.11 (t, ] = 7.1 Hz, 3H).

13C NMR (CDCl3, 100 MHz): § 172.2, 42.3, 40.5, 34.2, 33.2, 33.0, 28.4,24.9,14.8,13.5.

HRMS (ESI): Calced for C19HoNNaOBr (M+Na)+: 272.0620. Found: 272.0628.

©\/OTS

3-Cyclohexene-1-methanol p-toluenesulfonate [92864-78-3] (Table 5, entry 9). 3-
Cyclohexenylmethanol (2.08 mL, 2.00 g, 17.8 mmol) and Et3N (2.60 mL, 18.7 mmol) were
added to a solution of p-toluenesulfonyl chloride (3.38 g, 17.8 mmol) in THF (20 mL). The
initially clear solution became cloudy within a few minutes. After 12 h of stirring at r.t., a
white suspension had formed. Pentane (20 mL) was added, and then the suspension was
passed through Celite, which was washed with pentane. The filtrate was concentrated,
and the residue was purified by flash chromatography (pentane/Et;O 100:3), which
furnished 2.15 g (45%) of the desired product as a colorless oil.

TH NMR (CDCls, 400 MHz): § 7.80 (d, ] = 8.4 Hz, 2H), 7.36 (d, ] = 8.0 Hz, 2H), 5.67-5.57
(m, 2H), 3.91 (d, ] = 6.6 Hz, 2H), 2.46 (s, 3H), 2.11-1.94 (m, 4H), 1.76-1.66 (m, 2H), 1.32-1.22
(m, 1H).

13C NMR (CDCl3, 100 MHz): & 145.1, 133.4, 130.3, 128.3, 127.4, 125.4, 74.8, 33.5, 28.0,
25.1,24.4,22.1.

HRMS (ESI): Caled for C14H18NaO3S (M+Na)+: 289.0869. Found: 289.0864.



/\MB/\OTS

10-Undecen-1-0l p-toluenesulfonate [51148-67-5] (Table 6, entry 5). 11-Undecenyl
alcohol (5.89 mL, 5.00 g, 29.4 mmol) and EtsN (4.09 mL, 29.4 mmol) were added to a
solution of p-toluenesulfonyl chloride (5.60 g, 29.4 mmol) in THF (20 mL). The mixture
was stirred at 70 °C (white solids appeared within the first 10 min). After 8 h, the resulting
suspension was mixed with pentane (20 mL) and passed through a pad of silica gel (Et,O
washings). The filtrated was concentrated, and the residue was purified by flash
chromatography (pentane/Et;O 100:2) to give 5.27 g (58%) of the desired product as a
colorless oil.

'H NMR (CDCl3, 400 MHz): § 7.81 (d, ] = 8.3 Hz, 2H), 7.36 (d, ] = 8.0 Hz, 2H), 5.86-5.77
(m, 1H), 5.03-4.93 (m, 2H), 4.04 (t, ] = 6.5 Hz, 2H), 2.47 (s, 3H), 2.07-2.02 (m, 2H), 1.68-1.61
(m, 2H), 1.39-1.24 (m, 12H).

13C NMR (CDCl3, 100 MHz): § 145.0, 139.6, 133.6, 130.2, 128.3, 114.6, 71.1, 34.2, 29.7
(two overlapping resonances), 29.4, 29.3 (two overlapping resonances), 29.2, 25.7, 22.0.

[HPCyp3]BFs.> Under an argon atmosphere in a scintillation vial, HBF, (48 wt% in
water; 1.64 mL, 12.6 mmol) was added dropwise to a solution of PCyps (1.06 g, 4.45
mmol) in CHpCl (10 mL). The reaction mixture was stirred vigorously at r.t. for 10 min,
and then water (5 mL) was added and the organic layer was removed by pipet. The
aqueous layer was shaken with CH,Clp (10 mL), and the organic layer was again removed
by pipet. The combined organic extracts were dried over anhydrous MgSQy, filtered, and
concentrated to give a white solid, which was re-dissolved in hot acetone (10 mL) and then
precipitated with hexane (20 mL) to give a fine white powder (1.44 g, 99%).

TH NMR (CDCl3, 400 MHz): § 6.17 (dd, ] = 474.3, 5.2 Hz, 1H), 2.70-2.62 (m, 3H), 2.26-
2.19 (m, 6H), 1.86-1.75 (m, 18H).

13C NMR (CDCl3, 100 MHz): § 29.5, 28.7 (d, ] = 45.9 Hz), 26.3 (d, ] = 11.3 Hz).

31P NMR (CDCl3, 100 MHz): § 32.0.

IR (KBr pellet): 3421, 2984, 2923, 2361, 2336, 2017, 1236 cm-L.

HRMS (EI): Caled for C15HpgP (M)*: 239.1923. Found: 239.1930.

mp: 252 °C (decomposition).

S-6



HI. Negishi Cross-Coupling Reactions

Representative Procedure for the Optimization Studies (Tables 1 and 2). In a glove
box, Pdy(dba)s (4.6 mg, 0.0050 mmol), PCyps3 (5.0 uL, 4.8 mg, 0.020 mmol), THF (0.15 mL),
and dry NMP (0.4 mL) were added sequentially to a vial. The resulting mixture was
stirred at r.t. for 3 min, resulting in a yellow-green solution. n-BuZnBr (0.5 M in THF; 0.65
mL, 0.32 mmol), NMI (25 uL, 0.30 mmol), n-hexadecane (GC internal standard; 29 uL, 0.10
mmol), and 1-bromo-3-benzyloxypropane (46 uL, 58 mg, 0.25 mmol) were added, and
then the vial was closed with a Teflon-coated screw cap, sealed with electrical tape, taken
out of the glove box, and stirred in an 80 °C oil bath. After 14 h, an aliquot was passed
through silica gel and analyzed by gas chromatography.

Benzyl n-heptyl ether [16519-20-3]. 1H NMR (CDCl3, 400 MHz): § 7.38-7.28 (m, 5H),
4.54 (s, 2H), 3.50 (t, ] = 6.6 Hz, 2H), 1.67-1.62 (m, 2H), 1.41-1.29 (m, 8H), 0.92 (t, ] = 7.0 Hz,
3H).

13C NMR (CDCl3, 100 MHz): §139.1, 128.8, 128.1, 127.9, 73.3, 71.0, 32.3, 30.2, 29.6, 26.6,
23.1, 14.5.

Procedure for Tables 3 and 4 (no glove box). Pdy(dba); (9.2 mg, 0.010 mmol) was
added to a Schlenk tube equipped with a stir bar. The air was removed by
evacuating/refilling with argon (three times), and then PCyps (10 pL, 9.6 mg, 0.040
mmol), THF (0.3 mL), and dry NMP (0.8 mL) were added. After stirring for 3 min at r.t.,
the yellow-green solution was treated with the alkylzinc bromide solution (0.5 M in THF;
1.3 mL, 0.65 mmol), NMI (50 uL, 0.60 mmol), and the alkyl halide/tosylate (0.50 mmol).
The reaction mixture was stirred in an oil bath for 14 h at 80 °C, and then it was diluted
with pentane (2 mL) and passed through a short pad of silica gel (to remove inorganic
salts and NMP). The filtrate was then concentrated, and the residue was purified by flash
chromatography.

n-Tetradecane [629-59-4] (Table 3, entry 1). n-BuZnBr (0.5 M in THF; 1.3 mL, 0.65
mmol) and n-decyl bromide (111 mg, 0.50 mmol) were used. Solvent for
chromatography: pentane. Colorless oil (89 mg, 90%).

'H NMR (CDCl3, 400 MHz): § 1.33-1.29 (m, 24H), 0.91 (t, ] = 7.0 Hz, 6H).

13C NMR (CDCl3, 100 MHz): & 32.4, 30.2 (two overlapping resonances), 30.1, 29.8, 23.1,
14.5.

The NMR spectra and the GC retention time were identical to those of an authentic
sample (Aldrich).

5-Ethylhexadecane [125182-41-4] (Table 3, entry 2). 2-Ethylhexylzinc bromide (0.5 M

S-7



in THF; 1.3 mL, 0.65 mmol) and n-decyl bromide (111 mg, 0.50 mmol) were used. Solvent
for chromatography: pentane. Colorless oil (113 mg, 89%).

IH NMR (CDCl3, 400 MHz): § 1.28-1.24 (m, 29H), 0.93-0.83 (m, 9H).

13C NMR (CDCl3, 100 MHz): § 39.2, 33.6, 33.3, 32.4, 30.6, 30.2, 30.15 (two overlapping
resonances), 30.10, 29.8, 29.4, 27.2, 26.3, 23.6, 23.1, 14.61, 14.55, 11.3.

(4-Ethyloctyl)cyclohexane (Table 3, entry 3). 2-Ethylhexylzinc bromide (0.5 M in THE;
1.3 mL, 0.65 mmol) and 2-cyclohexylethyl bromide (98 mg, 0.50 mmol) were used.
Solvent for chromatography: pentane. Colotless oil (85 mg, 76%).

TH NMR (CDCl3, 400 MHz): § 1.73-1.69 (m, 4H), 1.31-1.15 (m, 22H), 0.93-0.83 (m, 6H).

13C NMR (CDCl3, 100 MHz): § 39.3, 38.5, 38.2, 33.9 (two overlapping resonances), 33.3,
29.4,27.2,26.9,26.3,24.3,23.6,14.6, 11.3.

IR (thin film): 2923, 2853, 1449 cm-1.

HRMS (EI): Calcd for C16Hzp (M)*: 224.2504. Found: 224.2503.

(4-Cyclohexylbutyl)benzene [6199-25-3] (Table 3, entry 4). Cyclohexylmethylzinc
bromide (0.5 M in THF; 1.3 mL, 0.65 mmol) and 1-bromo-3-phenylpropane (102 mg, 0.50
mmol) were used. Solvent for chromatography: pentane. Colorless oil (90 mg, 83%).

TH NMR (CDCl3, 400 MHz): § 7.34-7.28 (m, 2H), 7.23-7.19 (m, 3H), 2.64 (t, ] = 7.7 Hz,
2H), 1.74-1.57 (m, 7H), 1.41-1.14 (m, 8H), 0.93-0.90 (m, 2H).

13C NMR (CDCl3, 100 MHz): § 143.4,128.8, 128.6, 126.0, 38.1, 37.8, 36.5, 33.9, 32.3, 272,
27.0, 26.9.

HRMS (EI): Caled for C1gHp4 (M)*: 216.1873. Found: 216.1881.

1-Pentadecene [13360-61-7] (Table 3, entry 5). 4-Pentenylzinc bromide (0.5 M in THF;
1.3 mL, 0.65 mmol) and n-decyl bromide (111 mg, 0.50 mmol) were used. Solvent for
chromatography: pentane. Colorless oil (55 mg, 52%).

TH NMR (CDCl3, 400 MHz): § 5.89-5.79 (m, 1H), 5.05-4.94 (m, 2H), 2.07 (dd, ] = 6.8, 6.7
Hz, 2H), 1.42-1.29 (m, 22H), 0.91 (t, ] = 7.0 Hz, 3H).

13C NMR (CDCl3, 100 MHz): § 139.7, 114.5, 34.3, 32.4, 32.3, 30.12, 30.10, 30.06, 30.0, 29.9,
29.8,29.6,29.4,23.1, 14.5.

9-Benzyloxy-2,2-dimethylnonanenitrile (Table 3, entry 6). 5-Cyano-5-
methylhexylzinc bromide (0.5 M in THF; 1.3 ml, 0.65 mmol) and 1-bromo-3-
benzyloxypropane (116 mg, 0.50 mmol) were used. Solvent for chromatography:
pentane/EtOAc 100:3 — 100:4. Yellow oil (80 mg, 68%).

'H NMR (CDCl3, 400 MHz): & 7.38 (m, 5H), 4.53 (s, 2H), 349 (t, | = 6.6 Hz, 2H), 1.66-
1.63 (m, 2H), 1.51 (br s, 4H), 1.42-1.35 (m, 12H).

13C NMR (CDCl3, 100 MHz): § 139.1, 128.8, 128.1, 127.9, 125.7, 70.8, 41.5, 32.8, 30.1, 30.0,
29.7,27.1 (two overlapping resonances), 26.5, 25.6.

S-8



IR (thin film): 2935, 2859, 2233, 1719, 1275 cm-1.

HRMS (ESI): Calcd for C1gHp7NNaO (M+Na)*: 296.1990. Found: 296.1971.

9-t-Butyldimethylsiloxy-2,2-dimethylnonanenitrile (Table 3, entry 7). 5-Cyano-5-
methylhexylzinc bromide (0.5 M in THF; 1.3 mL, 0.65 mmol) and 1-bromo-3-(t-
butyldimethylsiloxy)propane (106 mg, 0.50 mmol) were used. Solvent for
chromatography: pentane/CH,Clp 100:30 — 100:50 — 100:100. Colorless oil (100 mg,
67%).

TH NMR (CDCl3, 400 MHz): 8 3.62 (t, ] = 6.6 Hz, 2H), 1.53-1.51 (br, 6H), 1.35 (br, 12H),
0.92 (s, 9H), 0.07 (s, 6H).

13C NMR (CDCls, 100 MHz): § 125.7, 63.6, 41.5, 33.2, 32.8, 30.0, 29.6, 27.1, 26.4, 26.1,
25.6,18.8, —4.8.

IR (thin film): 2935, 2858, 2235, 1472, 1101 cm-1.

HRMS (ESI): Caled for C17H35NNaOSi (M+Na)+: 320.2380. Found: 320.2370.

Ethyl 12-cyanododecanoate [133310-02-8] (Table 3, entry 8). 6-Ethoxy-6-oxohexylzinc
bromide (0.5 M in THF; 1.3 mL, 0.65 mmol) and 7-bromoheptanenitrile (96 mg, 0.50
mmol) were used. Solvent for chromatography: pentane/EtOAc 100:5 — 100:7.5. Yellow
oil (82 mg, 65%).

THNMR (CDCl3, 400 MHz): § 4.13 (9, ] = 7.1 Hz, 2H), 2.36-2.27 (m, 4H), 1.68-1.60 (m,
4H), 1.46-1.43 (m, 2H), 1.29-1.24 (m, 15H).

13C NMR (CDCl3, 100 MHz): § 174.3, 120.3, 60.6, 34.8, 29.8, 29.7 (two overlapping
resonances), 29.6, 29.5,29.2,29.1, 25.8, 25.4, 17.5,14.7.

n-Tetradecane [629-59-4] (Table 4, entry 1). n-BuZnBr solution (0.5 M in THF; 1.3 mL,
0.65 mmol) and n-decyl iodide (134 mg, 0.50 mmol) were used. Solvent for
chromatography: pentane. Colorless oil (86 mg, 87%).

The NMR (1H and 13C) spectra and the GC retention time were identical to those of an
authentic sample (Aldrich).

2-Heptyl-1H-isoindole-1,3(2H)-dione [71510-40-2] (Table 4, entry 2). n-BuZnBr
solution (0.5 M in THF; 1.3 mL, 0.65 mmol) and a solution of 2-(3-iodopropyl)-1H-
isoindole-1,3(2H)-dione (158 mg, 0.50 mmol) in NMP (0.8 mL) were used. Solvent for
chromatography: pentane/EtOAc 100:3 — 100:4. Yellow oil (59 mg, 48%).

"H NMR (CDCl3, 400 MHz): & 7.86-7.82 (m, 2H), 7.74-7.70 (m, 2H), 3.68 (t, ] = 7.3 Hz,
2H), 1.69-1.64 (m, 2H), 1.35-1.26 (m, 8H), 0.87 (t, ] = 6.8 Hz, 3H).

13C NMR (CDCl3, 100 MHz): 5 168.9, 134.2, 132.6, 123.5, 38.5, 32.1, 29.3, 29.0, 27.2, 23.0,
14.5.

n-Hexadecane [544-76-3] (Table 4, entry 3). n-BuZnBr solution (0.5 M in THF; 1.3 mL,
0.65 mmol) and n-dodecyl p-toluenesulfonate (157 mg, 0.50 mmol) were used. 80 °C, 40 h.

S9



Solvent for chromatography: pentane. Colorless il (93 mg, 86%).

The NMR (1H and 13C) spectra and the GC retention time were identical to those of an
authentic sample (Aldrich).

11-Cyano-2,2-dimethylundecanenitrile (Table 4, entry 4). 5-Cyano-5-methylhexylzinc
bromide (0.5 M in THF; 1.3 mL, 0.65 mmol) and 6-p-toluenesulfonyloxyhexanenitrile (134
mg, 0.50 mmol) were used. 80 °C, 40 h. Solvent for chromatography: pentane/Et;O 3:1.
Colorless oil (70 mg, 64%).

'H NMR (CDCl3, 400 MHz): § 2.34 (t, ] = 7.1 Hz, 2H), 1.67-1.62 (m, 2H), 1.49-1.42 (m,
6H), 1.33-1.31 (m, 14H).

13C NMR (CDCl3, 100 MHz): § 125.7, 120.3, 41.4, 32.8, 29.9, 29.63, 29.56, 29.1, 29.0, 27.1,
25.7,25.6,17.5.

IR (thin film): 2933, 2234, 1470 cm-1.

HRMS (ESI): Caled for C14H24N>Na (M+Na)+: 243.1831. Found: 243.1837.

n-Tetradecane [629-59-4] (Table 4, entry 5). 7n-BuZnBr solution (0.5 M in THF; 1.3 mL,
0.65 mmol) and n-decyl chloride (90 mg, 0.50 mmol) were used. 80 °C, 40 h. Solvent for
chromatography: pentane. Colorless oil (96 mg, 97%).

The NMR (1H and 13C) spectra and the GC retention time were identical to those of an
authentic sample (Aldrich).

2-Undecylpyridine [80401-50-9] (Table 4, entry 6). n-BuZnBr solution (0.5 M in THF;
1.3 mL, 0.65 mmol) and 2-(7-chloroheptyl)pyridine (106 mg, 0.50 mmol) were used. 80 °C,
40 h. Solvent for chromatography: pentane/EtOAc 100:3 — 100:4. Yellow oil (90 mg,
77%).

TH NMR (CDCl3, 400 MHz): § 8.53 (d, ] = 4.8 Hz, 1H), 7.59 (td, | = 7.6, 1.8 Hz, 1H), 7.15
(d,J=7.8Hz, 1H),7.10 (dd, ] =7.4,4.9 Hz, 1H), 2.79 (t, ] = 7.7 Hz, 2H), 1.73 (tt, ] = 7.7, 7.0
Hz, 2H), 1.36-1.26 (m, 16H), 0.89 (t, ] = 6.6 Hz, 3H).

13C NMR (CDCl3, 100 MHz): § 163.0, 149.6, 136.6, 123.1, 121.2, 38.9, 32.3, 30.4, 30.1,
30.04, 29.98, 29.9, 29.84, 29.76, 23.1, 14.6.

n-Tetradecane [629-59-4] (Table 4, entry 7). n-BuZnBr solution (0.5 M in THF; 1.3 mL,
0.65 mmol) and 1-bromo-6-chlorohexane (51 mg, 0.25 mmol) were used. 80 °C, 40 h.
Solvent for chromatography: pentane. Colorless oil (dialkylated product; 35 mg, 70%).

Procedure A for Table 5 (with PCyp; and a commercially available organozinc
reagent). In a glove box, Pdy(dba)s (9.2 mg, 0.010 mmol), PCyp3 (10 uL, 9.6 mg, 0.040
mmol), and dry NMP (0.8 mL) were added to a vial. The reaction mixture was stirred for
3 min at r.t,, and then the resulting yellow-green solution was treated with the organozinc
bromide (0.5 M in THF; 1.60 mL, 0.80 mmol), NMI (50 uL, 0.60 mmol), and the alkyl

S-10



halide/tosylate (0.50 mmol). The vial was closed with a Teflon-coated screw cap, sealed
with electrical tape, and taken out of the glove box. The reaction mixture was stirred in an
80 °C oil bath for 12 h, and then pentane (2 mL) was added. The reaction mixture was
passed through a short pad of silica gel (to remove inorganic salts and NMP), the filtrate
was concentrated, and the residue was purified by flash chromatography.

Procedure B for Table 5 (with [HPCyp3IBF; and a commercially available
organozinc reagent; no glove box). In air, Pdy(dba); (9.2 mg, 0.010 mmol) and
[HPCyp3]BF4 (13 mg, 0.040 mmol) were added to a Schlenk tube. The air was removed by
evacuating/refilling with argon (three times), and then dry NMP (0.8 mL) was added. The
reaction mixture was stirred for 3 min at r.t., and then the resulting yellow-green solution
was treated with the organozinc bromide (0.5 M in THF; 1.60 mL, 0.80 mmol), NMI (50 uL,
0.60 mmol), and the alkyl halide/tosylate (0.50 mmol). The reaction mixture was stirred in
an 80 °C oil bath for 12 h, and then pentane (2 mL) was added. The reaction mixture was
passed through a short pad of silica gel (to remove inorganic salts and NMP), the filtrate
was concentrated, and the residue was purified by flash chromatography.

1-Methyleneundecylbenzene [115146-99-1] (Table 5, entry 1). 1-Phenylvinylzinc
bromide (0.5 M in THF; 1.6 mL, 0.80 mmol) and n-decyl bromide (111 mg, 0.50 mmol)
were used. Solvent for chromatography: pentane. Colorless solid (Procedure A: 114 mg,
93%; Procedure B: 114 mg, 93%).

TH NMR (CDCl3, 400 MHz): § 7.47-7.44 (m, 2H), 7.39-7.35 (m, 2H), 7.33-7.28 (m, 1H),
5.31(d,] = 1.5 Hz, 1H), 5.10 (d, | = 1.4 Hz, 1H), 2.5 (t, ] = 7.6 Hz, 2H), 1.52-1.46 (m, 2H),
1.39-1.30 (m, 14H), 0.93 (t, ] = 6.7 Hz, 3H).

13C NMR (CDCl3, 100 MHz): & 149.2, 141.9, 128.6, 127.7, 126.5, 112.4, 35.8, 324, 30.1
(two overlapping resonances), 29.9, 29.8 (two overlapping resonances), 28.7, 23.2, 14.6.

IR (thin film): 2926, 2854, 1628, 1466 cm-1.

HRMS (EI): Caled for C1gHog (M)+: 244.2186. Found: 244.2185.

1-Methyleneundecylbenzene [115146-99-1] (Table 5, entry 7). 1-Phenylvinylzinc
bromide (0.5 M in THF; 1.6 mL, 0.80 mmol) and n-decyl iodide (134 mg, 0.50 mmol) were

used. Solvent for chromatography: pentane. Colorless solid (Procedure A: 114 mg, 93%;
Procedure B: 113 mg, 93%).

2-(4-Phenyl-4-pentenyl)-1H-isoindole-1,3(2H)-dione (Table 5, entry 8). 1-
Phenylvinylzinc bromide (0.5 M in THF; 1.6 mL, 0.80 mmol) and 2-(3-iodopropyl)-1H-
isoindole-1,3(2H)-dione (158 mg, 0.50 mmol) were used in Procedure A; in Procedure B,
the iodide was introduced as a solution in NMP (0.8 mL). Solvent for chromatography:
pentane/EtOAc 100:7. White solid (Procedure A: 107 mg, 74%; Procedure B: 111 mg, 76%).

'H NMR (CDCl3, 400 MHz): § 7.84-7.82 (m, 2H), 7.74-7.71 (m, 2H), 7.41-7.39 (m, 2H),

S-11



7.35-7.31 (m, 2H), 7.30-7.26 (m, 1H), 5.31 (s, 1H), 5.13 (d, ] = 1.2 Hz, 1H), 3.76 (t, ] =7.2 He,
2H),2.59 (t, ] = 7.7 Hz, 2H), 1.89 (dd, ] = 7.7, 7.2 Hz, 2H).

13C NMR (CDCl3, 100 MHz): 8 168.8, 147.6, 141.4, 134.3, 132.5, 128.8, 127.9, 126.5, 123.6,
113.2,38.1, 33.0, 27.5.

IR (KBr pellet): 3083, 3024, 2943, 1699, 1401, 1030 cm-1.

HRMS (ESI): Caled for C19H17NNaO, (M+Na)+: 314.1151. Found: 314.1155.

4-(2-Phenyl-2-propenyl)cyclohexene (Table 5, entry 9). 1-Phenylvinylzinc bromide
(0.5Min THF; 1.6 mL, 0.80 mmol) and 3-cyclohexene-1-methanol p-toluenesulfonate (133
mg, 0.50 mmol) were used. Solvent for chromatography: pentane. Colorless oil
(Procedure A: 56 mg, 58%; Procedure B: 52 mg, 53%).

'H NMR (CDCl3, 400 MHz): § 7.45-7.42 (m, 2H), 7.37-7.33 (m, 2H), 7.31-7.29 (m, 1H),
5.67-5.61 (m, 2H), 5.31 (d, ] = 1.8 Hz, 1H), 5.07 (d, | = 1.5 Hz, 1H), 2.55-2.45 (m, 2H), 2.10-
1.93 (m, 3H), 1.81-1.65 (m, 3H), 1.31-1.21 (m, 1H).

13C NMR (CDCl3, 100 MHz): § 147.4, 141.7, 128.7, 127.7, 127.4,126.8, 126.7, 114.1, 43.1,
32.00, 31.99, 29.0, 25.4.

IR (thin film): 3022, 2917, 2837, 1626, 1436 cm-1.

HRMS (EI): Caled for Ci5H1g (M)*: 198.1403. Found: 198.1406.

6,6-Diethoxy-2-phenyl-1-hexene (Table 5, entry 10). 1-Phenylvinylzinc bromide (0.5
M in THF; 1.6 mL, 0.80 mmol) and 4-chlorobutyraldehyde diethyl acetal (91 mg, 0.50
mmol) were used. Solvent for chromatography: pentane/EtOAc 100:2. Yellow oil
(Procedure A: 91 mg, 73%; Procedure B: 97 mg, 78%).

'H NMR (CDClg, 400 MHz): § 7.43-7.42 (m, 2H), 7.37-7.33 (m, 2H), 7.31-7.28 (m, 1H),
5.30 (s, 1H), 5.09 (s, 1H), 4.50 (t, ] = 5.6 Hz, 1H), 3.64-3.58 (m, 2H), 3.52-3.44 (m, 2H), 2.56 (t,
] =7.3 Hz, 2H), 1.70-1.65 (m, 2H), 1.59-1.52 (m, 2H), 1.20 (t, ] = 7.1 Hz, 6H).

13C NMR (CDCl3, 100 MHz): § 148.6, 141.6, 128.7, 127.7, 126.6, 112.9, 103.1, 61.2, 354,
33.4,23.7,15.7.

IR (thin film): 2975, 2930, 2876, 1444, 1374, 1129, 1063 cm-1.

HRMS (ESI): Caled for C16H24NaO, (M+Na)+: 271.1669. Found: 271.1674.

Decylbenzene [104-72-3] (Table 5, entry 12). PhZnBr (0.5 M in THF; 1.6 mL, 0.80
mmol) and n-decyl iodide (134 mg, 0.50 mmol) were used. Solvent for chromatography:
pentane. Colorless oil (Procedure A: 70 mg, 65%; Procedure B: 68 mg, 62%).

'H NMR (CDCl3, 400 MHz): § 7.36-7.32 (m, 2H), 7.26-7.22 (m, 3H), 2.67 (t, ] = 7.7 Hg,
2H), 1.68 (q, ] = 7.7 Hz, 2H), 1.38-1.30 (m, 14H), 0.96 (t, ] = 7.1 Hz, 3H).

13C NMR (CDCl3, 100 MHz): § 143.4, 128.8, 128.7, 126.0, 36.5, 32.4, 32.0, 30.11, 30.09,
30.01, 29.8 (two overlapping resonances), 23.2, 14.6.

Both spectra were identical to those of an authentic sample (Aldrich).

S-12



Procedure C for Table 5 (with PCyp3 and a Grignard reagent/ZnCly). In a glove box,
anhydrous ZnCl, granules (109 mg, 0.80 mmol) and 1.6 mL of a solution of the Grignard
reagent (0.5 M in THF; 0.80 mmol) were vigorously stirred for 20 min. To the resulting
suspension was added sequentially dry NMP (0.8 mL), PCyp3 (10 uL, 9.6 mg, 0.040 mmol),
NMI (50 uL, 0.60 mmol), the alkyl halide/tosylate (0.50 mmol), and then Pdy(dba)s (9.2
mg, 0.010 mmol). The vial was closed with a Teflon-coated screw cap, sealed with
electrical tape, and taken out of the glove box. The reaction mixture was stirred in an 80
°C oil bath for 12 h, and then pentane (2 mL) was added. The reaction mixture was passed
through a short pad of silica gel (to remove inorganic salts and NMP), the filtrate was
concentrated, and the residue was purified by flash chromatography.

Procedure D for Table 5 (with [HPCyp3]BF, and a Grignard reagent/ZnCly; no glove
box). In air, Pdy(dba)3 (9.2 mg, 0.010 mmol) and [HPCyp3]BF4 (13 mg, 0.040 mmol) were
added to a Schlenk tube. The air was removed by evacuating/refilling with argon (three
times), and then a ZnCl; solution (0.5 M in THF; 1.6 mL, 0.80 mmol) was added. A
solution of the Grignard reagent (0.5 M in THF; 0.80 mmol) was introduced dropwise over
30 seconds, and the resulting mixture was stirred for 1 min. To this brown suspension was
added the alkyl halide/tosylate (0.50 mmol), NMI (50 pL, 0.60 mmol), and then dry NMP
(1.6 mL) (The addition sequence is important). The reaction mixture was stirred in an 80 °C
oil bath for 12 h, and then pentane (2 mL) was added. The reaction mixture was passed
through a short pad of silica gel (to remove inorganic salts and NMP), the filtrate was
concentrated, and the residue was purified by flash chromatography.

7-Methyl-7-octenyl pivalate (Table 5, entry 2). 1-Methylvinylmagnesium bromide
(0.5 M in THF; 1.6 mL, 0.80 mmol) and 6-bromohexyl pivalate (133 mg, 0.50 mmol) were
used. Solvent for chromatography: pentane/Et;O 100:1. After concentration under
reduced pressure, the yellow residue was treated with dry MeOH (2 mL). The resulting
mixture was allowed to stand overnight, and then the small amount of phosphine-
containing yellow solid was removed by filtration through a short plug of Celite in a
Pasteur pipet (MeOH washings). The filtrate was concentrated to give a yellow oil that
was pure according to 'H and 13C NMR spectroscopy (Procedure C: 77 mg, 68%;
Procedure D: 80 mg, 71%).

TH NMR (CDCl3, 400 MHz): § 4.70 (s, 1H), 4.67 (s, 1H), 4.06 (t, ] = 6.6 Hz, 2H), 2.01 (t, ]
= 7.3 Hz, 2H), 1.72 (s, 3H), 1.67-1.60 (m, 2H), 1.47-1.32 (m, 6H), 1.21 (s, 9H).

13C NMR (CDCl3, 100 MHz): § 179.0, 146.4, 110.1, 64.8, 39.1, 38.1,29.2, 29.0, 27.8, 27.6,
26.2,22.7.

IR (thin film): 2970, 2934, 2859, 1731, 1285, 1156 cm-1.

S-13



HRMS (ESI): Calcd for C14H¢NaO; (M+Na)+: 249.1825. Found: 249.1831.

2-(4-Methyl-4-pentenyloxy)-tetrahydro-2H-pyran  (Table 5, entry 3). 1-
Methylvinylmagnesium bromide (0.5 M in THF; 1.6 mL, 0.80 mmol) and 2-(3-
bromopropoxy)tetrahydro-2H-pyran (112 mg, 0.50 mmol) were used. Solvent for
chromatography: pentane /EtyO 100:2. Colorless oil (Procedure C: 70 mg, 76%; Procedure
D: 71 mg, 77%).

TH NMR (CDCl3, 400 MHz): § 4.72 (s, 1H), 4.70 (s, 1H), 4.59 (t, ] = 4.2 Hz, 1H), 3.91-3.85
(m, 1H), 3.78-3.72 (m, 1H), 3.54-3.48 (m, 1H), 3.43-3.37 (m, 1H), 2.14-2.04 (m, 2H), 1.88-1.80
(m, 1H), 1.79-1.69 (m, 6H), 1.62-1.51 (m, 4H).

13C NMR (CDCls, 100 MHz): § 145.8, 110.3, 99.3, 67.6, 62.7, 34.7, 31.1, 28.1, 25.9, 22.8,
20.1.

IR (thin film): 2942, 2871, 1651, 1442, 1034 cm-1.

HRMS (ESI): Caled for C11HpoNaO2 (M+Na)*: 207.1356. Found: 207.1356.

Benzyl 5-methyl-4-hexenyl ether [131721-93-2] (Table 5, entry 4). 2-Methyl-1-
propenylmagnesium bromide (0.5 M in THF; 1.6 mL, 0.80 mmol) and benzyl 3-
bromopropyl ether (116 mg, 0.50 mmol) were used. The reaction mixture was passed
through a short silica-gel column with pentane/Et;O 100:2. The yellow fractions were
combined and concentrated under partial vacuum to give a yellow oil, which was treated
with dry MeOH (2 mL). The resulting mixture was allowed to stand overnight, and then
the small amount of phosphine-containing yellow solid was removed by filtration through
a short plug of Celite in a Pasteur pipet (MeOH washings). The filtrate was concentrated,
and the residue was purified by flash chromatography (pentane/Et,O 100:1). Yellow oil
(Procedure C: 84 mg, 83%; Procedure D: 76 mg, 75%).

TH NMR (CDCl3, 400 MHz): § 7.38-7.28 (m, 5H), 5.14 (t, ] = 7.2 Hz, 1H), 4.53 (s, 2H),
3.50 (d, ] = 6.6 Hz, 2H), 2.10 (m, 2H), 1.72-1.59 (m, 8H).

13C NMR (CDCl3, 100 MHz): § 139.1, 132.3, 128.8, 128.0, 127.9, 124.4, 73.3, 70.4, 30.3,
26.1,25.0,18.1.

IR (thin film): 2965, 2927, 2855, 1453, 1102 cm-1.

HRMS (ESI): Caled for C14Hy0NaO (M+Na)+: 227.1406. Found: 227.1407.

N,N-Diethyl 8-methyl-8-nonenamide (Table 5, entry 5). 2-Methyl-1-
propenylmagnesium bromide (0.5 M in THF; 1.6 mL, 0.80 mmol) and N,N-diethyl 6-
bromohexanamide (123 mg, 0.50 mmol) were used. Solvent for chromatography:
pentane/EtOAc 6:1. Colorless oil (Procedure C: 91 mg, 81%,; Procedure D: 81 mg, 72%).

'H NMR (CDCl3, 400 MHz): 8 5.11 (t, ] = 7.1 Hz, 1H), 337 (q, ] = 7.1 Hz, 2H), 3.30 (q, ] =
7.1Hz, 2H), 2.28 (t, | = 7.5 Hz, 2H), 1.97 (d, ] = 6.6 Hz, 2H), 1.68-1.61 (m, 5H), 1.59 (s, 3H),
1.34 (t, ] = 3.5 Hz, 4H), 1.17 (t, ] = 7.1 Hz, 3H), 1.11 (t, ] = 7.1 Hz, 3H).

S-14



13C NMR (CDCl3, 100 MHz): § 172.7, 131.7, 125.1, 42.3, 40.4, 33.6, 30.1, 29.6, 28.3, 26.1,
25.9,18.1,14.8,13.5.

IR (thin film): 2932, 1644, 1430 cm-1.

HRMS (ESI): Calcd for C14Hy7NNaO (M+Na)+: 248.1985. Found: 248.1986.

2-Methyl-1-dodecene [16435-49-7] (Table 5, entry 6). 1-Methylvinylmagnesium
bromide (0.5 M in THF; 1.6 mL, 0.8 mmol) and n-decyl iodide (134 mg, 0.50 mmol) were
used. Solvent for chromatography: pentane. Colorless oil (Procedure C: 82 mg, 98%;
Procedure D: 78 mg, 93%).

TH NMR (CDCl3, 400 MHz): § 4.71 (s, 1H), 4.69 (s, 1H), 2.03 (t, ] = 7.4 Hz, 2H), 1.74 (s,
3H), 1.48-1.40 (m, 2H), 1.30 (br s, 14H), 0.91 (t, ] = 7.0 Hz, 3H).

13C NMR (CDClz, 100 MHz): & 146.8, 109.9, 38.3, 32.3, 30.05 (two overlapping
resonances), 29.98, 29.8 (two overlapping resonances), 28.1, 23.1, 22.8, 14.5.

Ethyl 6-(4-methoxyphenyl)hexanoate [59339-35-4] (Table 5, entry 11). p-
Methoxyphenylmagnesium bromide (0.5 M in THF; 1.6 mL, 0.80 mmol) and ethyl 6-
bromohexanoate (112 mg, 0.50 mmol) were used. Solvent for chromatography:
pentane/EtOAc 100:3. Colorless oil (Procedure C: 92 mg, 74%; Procedure D: 86 mg, 69%).

TH NMR (CDCls, 400 MHz): § 7.13-7.10 (m, 2H), 6.87-6.83 (m, 2H), 4.14 (q, | =7.2 Hz,
2H), 3.81 (s, 3H), 2.58 (t, ] = 7.6 Hz, 2H), 2.31 (t, ] = 7.6 Hz, 2H), 1.71-1.69 (m, 4H), 1.41-1.36
(m, 2H), 1.27 (t, ] = 7.2 Hz, 3H).

13C NMR (CDCl3, 100 MHz): § 174.2, 158.1, 135.0, 129.7, 114.1, 60.6, 55.7, 35.2, 34.7, 31.8,
29.1,25.3,14.7.

IR (thin film): 2934, 2857, 1733, 1513, 1246 cm-1.

HRMS (ESI): Caled for C15HoNaO3 (M+Na)+: 273.1461. Found: 273.1464.

Procedure E (Table 6). Anhydrous ZnBr, (180 mg, 0.80 mmol) and LiH (15 mg, 18
mmol) were added to a Schlenk tube in a glove box. The flask was removed from the
glove box and placed under an argon atmosphere. THF (1 mL) was added, and the
resulting gray suspension was vigorously stirred at r.t. for 3 h. The flask was then chilled
to -78 °C, and the alkyne (freshly purged with argon, 0.80 mmol) and Cp,TiCl; (20 mg,
0.080 mmol) were added. The reaction mixture was allowed to warm to r.t. over 1 h,
during which time the stirred suspension turned from orange to yellow to brown/black.
The reaction mixture was vigorously stirred for 2 additional hours, and then the flask was
taken into a glove box, and the dark suspension was passed through an Acrodisc (CR
PTFE 0.45 pum membrane) with the aid of THF (0.6 mL). The resulting dark filtrate was
treated with dry NMP (0.8 mL), PCyps (9.6 mg, 0.040 mmol) or [HPCyps]BF4 (13 mg,
0.040 mmol), NMI (50 uL, 0.60 mmol), the alkyl halide/tosylate (0.50 mmol), and then

S-15



Pdj(dba)s (9.2 mg, 0.010 mmol). The vessel was sealed, removed from the glove box, and
heated in an 80 °C oil bath with stirring for 12 h. Pentane (2 mL) was then added, and the
dark reaction mixture was passed through a short pad of silica gel (to remove inorganic
salts and NMP), the filtrate was concentrated, and the residue was purified by flash
chromatography.

(E)-4-Methyl-4-hexenylbenzene (Table 6, entry 1). 2-Butyne (43 mg, 0.80 mmol) and
1-bromo-3-phenylpropane (102 mg, 0.50 mmol) were used. Solvent for chromatography:
pentane. Colorless oil (PCyp3: 55 mg, 63%; [HPCyp3]BF4: 42 mg, 48%).

'H NMR (CDCl3, 400 MHz): § 7.35-7.32 (m, 2H), 7.25-7.21 (m, 3H), 5.31-5.26 (qd, | = 6.6,
1.2 Hz, 1H), 2.63 (t, ] = 7.7 Hz, 2H), 2.09 (t, ] = 7.8 Hz, 2H), 1.82-1.74 (m, 2H), 1.66-1.63 (m,
6H).

13C NMR (CDCl3, 100 MHz): § 143.2, 136.0, 128.9, 128.7, 126.0, 119.0, 39.7, 36.0, 30.2,
16.0, 13.8.

IR (thin film): 2934, 2859, 1496, 1453 cm-1.

HRMS (EI): Caled for C13Hig (M)*: 174.1403. Found: 174.1399.

(E)-4-Methyl-4-hexenyl phenyl ether (Table 6, entry 2). 2-Butyne (43 mg, 0.80 mmol)
and 3-bromopropyl phenyl ether (113 mg, 0.50 mmol) were used. The crude mixture was
passed through a short silica-gel column (pentane/Et,O 100:2). The yellow fractions were
combined and concentrated under partial vacuum to give a yellow oil, which was treated
with dry MeOH (2 mL). The resulting mixture was allowed to stand overnight, and then
the small amount of phosphine-containing yellow solid was removed by filtration through
a short plug of Celite in a Pasteur pipet (MeOH washings). The filtrate was concentrated,
and the residue was purified by flash chromatography (pentane/Et,O 200:1). Yellow oil
(PCyp3: 50 mg, 53%; [HPCyp3]BF4: 49 mg, 51%).

TH NMR (CDCl3, 400 MHz): § 7.33-7.29 (m, 2H), 6.98-6.92 (m, 3H), 5.28 (qd, ] = 6.7, 1.3
Hz, 1H), 3.96 (t, ] = 6.6 Hz, 2H), 2.18 (t, ] = 6.6 Hz, 2H), 1.95-1.88 (m, 2H), 1.66 (s, 3H), 1.61
(dd,J=6.7,1.0 Hz, 3H).

13C NMR (CDCl3, 100 MHz): § 159.5, 135.2, 129.8, 120.9, 119.4, 114.9, 67.8, 36.3, 27.9,
16.0, 13.8.

IR (thin film): 2921, 1601, 1498, 1246 cm-1.

HRMS (EI): Calcd for C13H180 (M)*: 190.1352. Found: 190.1355.

(2)-5-Cyclohexyl-3-phenyl-2-pentene (Table 6, entry 3). 1-Phenyl-1-propyne (93 mg,
0.80 mmol) and 1-bromo-2-cyclohexylethane (98 mg, 0.50 mmol) were used. Solvent for
chromatography: pentane. Colorless oil (PCyps: 70 mg, 61%, regioselectivity 94:6;
[HPCyp3]BF4: 72 mg, 63%, regioselectivity 94:6).

TH NMR (CDCl3, 400 MHz): § 7.39-7.35 (m, 2H), 7.29-7.25 (m, 1H), 7.20-7.18 (m, 2H),

S-16



5.57 (q,] = 6.8 Hz, 1H), 2.38 (t, ] = 7.0 Hz, 2H), 1.72-1.65 (m, 5H), 1.59 (d, ] = 6.8 Hz, 3H),
1.25-1.19 (m, 6H), 0.91-0.83 (m, 2H).

13C NMR (CDCl3, 100 MHz): § 142.7, 141.7, 128.9, 128.4, 126.6, 121.0, 37.8, 37.0, 36.5,
33.7,27.2,26.8,15.1.

IR (thin film): 2922, 2851, 1494, 1448 cm-1.

HRMS (EI): Calcd for C17Ha4 (M)+: 228.1873. Found: 228.1882.

2-[(E)-4-Methyl-4-hexenyl]-1H-isoindole-1,3(2H)-dione (Table 6, entry 4). 2-Butyne
(43 mg, 0.80 mmol) and 2-(3-iodopropyl)-1H-isoindole-1,3(2H)-dione (158 mg, 0.50 mmol)
were used. Solvent for chromatography: pentane/EtOAc 100:4. Yellow solid (PCyps: 84
mg, 69%; [HPCyp3]BF4: 87 mg, 72%).

'H NMR (CDCls, 400 MHz): 8 7.90-7.85 (m, 2H), 7.77-7.72 (m, 2H), 5.27 (qd, ] = 6.7, 1.2
Hz, 1H), 3.69 (t, ] = 7.4 Hz, 2H), 2.09 (t, ] = 7.6 Hz, 2H), 1.82 (dd, ] = 7.6, 7.4 Hz, 2H), 1.64 (s,
3H), 1.58 (dd, | = 6.7, 0.9 Hz, 3H).

13C NMR (CDCl3, 100 MHz): § 168.9, 134.8, 134.3, 132.6, 123.6, 119.6, 38.3, 37.3, 27.0,
15.9,13.8.

IR (KBr pellet): 2940, 2880, 1702, 1356, 1040 cmL.

HRMS (ESI): Caled for C15H17NNaO; (M+Na)+: 266.1151. Found: 266.1156.

(Z)-12-Phenyl-1,12-tetradecadiene (Table 6, entry 5). 1-Phenyl-1-propyne (93 mg, 0.80
mmol) and 10-undecen-1-ol p-toluenesulfonate (155 mg, 0.50 mmol) were used. Solvent
for chromatography: pentane. Colorless oil (PCyps: 80 mg, 59%, regioselectivity 95:5;
[HPCyp3]BFy: 84 mg, 62%, regioselectivity 94:6).

TH NMR (CDCl3, 400 MHz): § 7.39-7.35 (m, 2H), 7.29-7.25 (m, 1H), 7.20-7.18 (m, 2H),
5.90-5.80 (m, 1H), 5.56 (q, ] = 6.9 Hz, 1H), 5.05-4.95 (m, 2H), 2.36 (t, ] = 7.0 Hz, 2H), 2.24 (m,
2H), 1.59 (d, ] = 6.8 Hz, 3H), 1.42-1.27 (m, 14H).

13C NMR (CDCl3, 100 MHz): § 142.4, 141.6, 139.7, 128.9, 128.4, 126.7, 121.3, 114.5, 39.6,
34.3, 30.0, 29.90, 29.86, 29.63, 29.56, 29.4, 28.6, 15.1.

IR (thin film): 2926, 2855, 1641, 1441 cm-1.

HRMS (EI): Caled for CooHszg (M)*: 270.2342. Found: 270.2355.

S-17



1)

2)
(3)
(4)
(5)

References

Kirchhoff, J. H.; Netherton, M. R.; Hills, I. D.; Fu, G. C. J. Am. Chem. Soc. 2002, 124,
13662-13663.

Yeh, M. C. P.; Chen, H. G.; Knochel, P. Org. Synth. 1992, 70, 195-203.

Ziirn, L. Justus Liebigs Ann. Chem. 1960, 631, 56-60.

Jansen, A.; Pitter, S. Monatsh. Chem. 1999, 130, 783-794.

Netherton, M. R.; Fu, G. C. Org. Lett. 2001, 3, 4295-4298.

S-18



3203

LvL”
LSL”
8oL
SLLT
96L"
AR
[A4h
9¢8”
£Er8°
068"
Fo8”
T6T”
661"
€’
§6C°
€Z9”
Sv9-
199°
089°
TOoL”

CLS”
986"

8GL”
[N

tnhi,

N ANANNANNNNN A A A A e e e

S
g>— ~-—_—ﬁ—‘!<\l
9
g _—— ——
‘ . .
~t
=
=}
Py
=
>~
=
B
=)

ppm

10

699 81

0ST"S

rPr0° €

10870

005°0



3203

6v¢"
"9¢
0er -’
988 °
TZs:

09¢

8ET”
I
eLL”

9¢

8¢
8¢
6¢C

[HP(Cyp)3]BF,4

ppm

200 180 160 140 120 100 80 60 40 20 0

220



wdd §T- 01— G- 6 g 0T a1 0¢ G¢ 0€ St OF 37 oS ) 09 S99 0L SL

.__....____.__,_._..____.p__L_________,..._.__.______,____.._._.__A__,.___“.._..:_.‘.___..__...L__,

vagal€(diD)aH]

[AARNAS

€0ce



2245b

0TT"
868"
916"
€ce6”
z62"
zZ1¢"
6€E"
0ce”
8G¢ "
oLE”
GLE"
L8E"
96¢"
LOE"
ZIv -
919"
LZ9"
£€9”
€69
0L9"
z8% "
667"
GIg"

8eq”

Ak
962"
66¢C°
80¢E"”
61E”
628"
IYASH
z8e’

O Med A A A A A A A A A A A A A A A O O OO

N O S e

wdl

I

~heptyl ether

o

Benzvl n

ppmn

beL T
0cz ¥
__LET'T

€960

—_—

000" 1T

9¢5°¢



£
Q.
Q
— O
LES" 0
T716'O\ _ _ _J -
Tee 0 — j ~~ —-000°9
£627°1 — 69v° 22
pee T — ) —
— o
-
<
—
— O
b [~
— o
pane
s
5
=
<P
5
ey — O
=
(2]
-
O
[ig]
™ r
(@]
2 i




3053b

£e8”
168"
0L8"
688"
868"
906"
ST6°
N4
cee”
vz
9G¢”
58¢°

N OO OO0 OO0 OO0

N

Table 3, entry 2

ppm

—£15°0
™W000"T
6G8° ¥



3071c

£98°
698"
GL8"
188"
168"
868"
606"
916"
9¢e6”
£ce’
zel’
Syl
FoT”
TLT
081"
£6l”
voc”
€ce’
6CcC”
ive”
oLe”
LLe”
18¢°
vec¢’
voe”
eTe”
6Tc"
Lee”
SLGT
879 -
£69°
669°
ZeL’
6ZL”

g8¢"

\—|\—|r—-lr—-1r—(r—l‘.—ir—(‘—lr-!r—!r—in—lr—{ﬂr—{r—IHHHr—IH\—{r—(OOOOOOOOOO

]

L
BRRESS

"Table 3, entry 3

]‘I‘rlr‘lllll

ppm

069°1
—

LOL€C

000°1



3053dh

€06’
TTe"
AN
696°
886 °
900"
LPT®
PaT”
ot
r8tT”
68T
80¢C”"
1ces
vee”
16
19¢°
62"
6L’
LS
8LE "
435
Piv’
69G°
1658”7
TT9°
0€S”
089-
199"
899
089"
LOL”
60L°
8eL”
cC9’
9"
099-
£oT”
LeT”
AR
6’
v8<-°
Lec:
Foe”
erTe”
aTe”
gee”
pee”
Ive”

TR =

l\l\l\l\[\(\l\[“L\P[\[\(\](\](\]r—‘i\—i\—ir—i‘-{\—{r—i‘—iH\—ir—lr%‘—lr—{r—+r—‘iw—ir*lr-«lr«{\—{r—{\—I\—‘(r—lr—ir—i\—iOOOOO

_
R
=
-«
}"i
St
Rt
=
%]
o
=
=
<
H

ppm

— £0Vv T
—WL00"'T



2281c

768"
606"
976"
887"
62¢"
L9€g"
98¢ "
cov"
0zy"
170"
b0
090"
LLO"
P60 "
9¢6 "
666"
176"
Vy6 "
LV6"
196"
796"
L96"
0L6"
zLe”
166"
S66°
000"
700"
PEO "
8£0"
€50 "
L¥O"
T6L"
808"
918"
yZ8"
ceg”
068"
658"
£98"
9L8"
€68°
782"

s

Il

Nypeeed

b

OO OO ODOWODODOWOW PP PP FTNNNNNA A A A AAOOO

—

Table 3, entry 5

—

B

ppm

—

.




AT
coe”
£€8e”
66¢"
(A0
90F°
LI®”
TZv-
661"
0tg-
Fis”
GC9”
A
199”

Ly
cev’
605"

0gg”

Fge’
coe”
cTe’
AR
vee:
16"
LGE”
rog”
SLE”

2291a

B B M B B e B 0 e TR e TR e B o TR e s B

/)

™

/

O i S S S ol ol

Table 3, entry 6

M

Lt

ppm

iSE

— ISE°T1
cGL €
—GL0"¢

81

—

000°¢

6860



3063g

0L0°0
8L0°0 —

95T6 0
€260 —
gre 1
€se’ T
21871

IES'I%
966" T

G0%"
cecor
8€9°

V

98¢ L

A

Table 3, entry 7

U

|

ppm

T

T T T

9L6° ¢

£08°'¥

8109

- 520°¢

000" 1T



2233b

vee:
cve”
09¢-
LT’
cec’
607"
62V
Svv-’
£86°
y09°
AN
N
099~
8LO"
ASKAN
€Le”
6’
0Te”
R4
9%’
Z80°
00T”
8TT"
9¢€T”

/s

e N

P T TN NN NN A e e et e e e et e

N

v8C L

Table 3, entry 8

ppm

-

16e’ L

9¢T 1

~C60°¢

810" ¢

0C0° T



2289%a

L68°0
$Te"0
cEe "0
vez 1
9¢€" 1

Table 4, entry 1

J

ppm

— 0001

6E6°€



3039d

968"
€L8’
068"
182
TLe:
9L¢"
F3¢”
§6¢°
00€”
LTE”
rece”
gee”
cre”
18¢e”
8€9°
969~
SL9”
69 -
FoL”
£99°
189"
669"

AT
FoL”
TTL”
LTL”
GeL’
SeL”
LeL-
£Z8’
S¢8°
qeg”
€Ev8”
678"
968"

|

!

"M AAd A A A A A A A A A A A A A OO O

e N e e e o

P

Table 4, entry 2

rﬁ:.-::xu

ppm

7991

ST ¥
€901

,___/__-

6201

—000"1T



LOT"

geg”’
ST6”
cee’
€6C°

3035d

y

Table 4, entry 3

ppm

T

ppm

000°9

—_——

08T LT



3197c2

ppm

- O
TTE" 1
0€E" T
b2y T
ZW.IX J o
Z29%° 1 B _ r  — 789 °¢€T
L8T7'I\ = [ 000°9
gt9't7 = i —I80°2
€€9° T
= N
769" 1
e =
TL9"T i —000°¢C
1752
6€€°7
LSE" T -
— <
—
— O
b
— 0
- L— OV
- :
= :
L L
-+ [
K Lo
g _‘—'I
=




3025a1l

Z88°
668°
916"
8LZS
0ce”
Lee”

0—

-[\_.

T

T
wy
)
&
=
&
é‘
=
<=
<
ot

ppm

T T T T T

-

SPT'1T

e

<06 "€



3067g

TL8"
688°
S06°
£9¢"
20¢”
8e¢”

0

GGE° T

ZTL”
ceL”
eWL”

69L”
68L°
608"

S80°
Le0”
TOT~
€01~
STT-
ovT”
651"
68¢”
89G°
€LG T
L8G"
266”
909"
119~
LZS”
8eG-
6E£G”

00 00 0O [~ [~ [~ [~ [~ [~ [~ [~~~ >~ D

Y =

Table 4, entry 6

ppm

T

—9ge°¢

TOT ST

__ stttz

LZ0" ¢

—

§20°¢
cE0" 1

T T T

000°T

———



3025al

288"
668"
916"
8LT”
YA

Lee”

Table 4, entry 7

ppm

~ o~

T

e~

206" ¢



95T6°
AN
166"
c0g”
cee”
0Gge-
19¢”
L9g"
Gge”
D97
SLY”
867"
ETG"
915"
996"
ISNAT
LZG"
9% G-
£96°
6§9¢G”°

Le0”
00T~
FOT"
60¢€°
e’
“F8C”
88C°
00€e”
90¢”
cte”
TZe”
vee”
Lee”
ese”
9Ge”
89¢-
AR
eLe’
S8E”
68E°
43
IN7A7
Ley:
08%”
Zov”
L9V
Ly

o AN NN NN A A AT A A A A A A A O OO

pp=== T TN

e el

N e
L

3185d

Table 5, entry 1

ppm

10

vl ¢

4 A"
—

866 T

—\——___

——A

= 000"t

/e80T
—5L0"¢

NL96 T T



INAN
6eEE”
9ve”
(AN
8G¢g”
6LE’
Z8¢e”
€6t
0ov”
ITe-
6TF "
6Cv"
SE AT
LOV"
109°
819"
LEY”
FS9-
L9~
9TL”
8667
710"
ceQ”
cvo-
860"
PLO”
899"
Le9”

3269a

= \\J—

AN

L LR L L I L o T o e B S e B e T B B e B s B e B e B o B Mo B B B e B

Table 5, entry 2

L {

- ppm

— 7.8 ¥
c8¢ ¢

= 9611
\G0S"'T

— 090" T

060" T

T — e ——

U s A

000" T

—_—— b



3269b

9ZL"
8cL”
SSL-
vLL
T6L"
108"
z18"
zz8”
628"
geg”
zs8”
198"
£L8”
188"
Zvo”
LS0"
€LO"
180"
160"
T0T"
0TT"
0zT"
8ET”
TLE”
Lec”
Sec
707"
TTF"
82y
187"
067
76T
806"
225"
Seg”
L7S"
659"
9.9
269"
TZL"
geL”
Syl
SSL-
z9L”

;.

LL

oo
[

298’
L8’
088"
688"
006"
806
LLS"

O NN MMM MMM EOMOIMOMNOMNMMNMMOMOMNNNNNNANNNN A A e e e e o e e e e

Table 5, entry 3

ppm

[A@)]

6¢5° 1
— "
cCcl’L
—
tel" ¢

000" T
— 21T
866°0
6TT°T

PSSO 1
988° 1



ppm

0TT"
006~
43
919°
6€9°
£q9”
0L9"
L89"
90L"
(A4
oLL”
LLO”
S60°
AN
TeT”
Ly1-
447
8G¥°
SLY-
2
006G~
LTS
1¢s”
€es’
Let:
0ET”
N2
A4
8v1°
66T
€9t1”
v8c”
$6¢°
86¢C"
80¢€ "
61E”
6Ct’
beE’
6vE”
A3
oLE”
8¢-

oA A O

V="
/

9cZv "6

™~

BvZ ¢

AN N NN

— = — - —190°¢

-—\___ﬁ—__

— - < I  izz'z

000" T

= -

_ i — o f TLL'S

e e T S SN S N S o SN o W To W Te WTo W T T o N To B I I o B s oW e I oo W e o B s o B QN

LY
N
|

4145al1
Table 5, entry 4
I
10




4063b2

L8O
G01-
A
061~
89T~
S8T°
0ge”
6ee”
SAASN
43N
LOS”
G¢9°
S¥9 -
£99°
189°
§96°
2867
€oC”
£8c’
T0e”
€L’
Tec”
60€"
9ce”
AN
09¢”
8L
96¢”

L80°
S0T~
60T~
€CtL’

///

NN

DWW OO0 MOMOANNC A e ed vt e e et e e e e e

WO

r8c" L

Table 5, entry 5

ppm

_TL1€
—L0T°€
. Sv0'¥
8L0°8
6661
—000°¢

921 ¥

—— T

LS6°0

e



3261b

€680
0160
LZ6°0
G627 T
87y T
PHb T
795 T —
LeL T "

900"z —7
920° 7
55077~

889 "% —
TL 7 —

v8CT L

Table 5, entry 6

ppm

10

0€8°'T
£1€°8
— ?ZI.I
= ¥v6v"'T
OTIT"T

—_————

0001



Le8"’
GT6°
T€6°
£8¢°
AR
oee”
ovv”
VA
8LV’
96V
AR
ZLS”
L0G"
LZS”
S¥&-

£80°
g80"
06
£6¢C"’
TLe”
vLTT
LLe:
58¢°
438
gec’
Loe:
ote”
£Tg”
gee”
cre’
AR
8ge "’
TLE”
GLE”
BLE”
Ter”
AN
9% v ”
0s¥ -
Sep -

3205a2

— OO0

Vi

-[\

)

S\)=

L e e N e N e N T i Al S S ol ol el el T I T T O MY

Table 5, entry 7

J

ppm

- 0

10

—— 01c’'¢
S —

650°GT
—bLT C

T NN
=/ 58002

= 0001

= F20°'1

122°1

—981 ¢
\Z£0°¢



4075arl

AR
TLi8s
688"
806°
A
SLST

Fes ¢

£e1o”
9eL”
SGL°
eLL”
6CT”
(A5
rie”
96¢”

09¢-
LS

VLT

18e¢-
r8¢”
88¢C°
6l
962"
AR
CRAN
eee”
Sve”
0se”
£€Ge”
88¢°
Tee”
cop”
80% -
AN
SoL”
etTL”
6TL”
9¢CL”
9€L”
6EL”

£€Z8”’
9¢8”
9€8”
vrg”

T
T

i

VA

o N
)

~

PPN

I e e e e e e S e S e e e e i e e ol o o S ol Sl o S To W Yo TN e W e

.

Table 5, entry 8

ppm

10

620°¢C

T~

— 86671

LEO T

——

— T1060°T

—000"T



4095er

88L"
G6L"
108"
808"
0€6 "
GEG "
766"
296"
996"
9L6"
086"
686"
866"
Z10°"
870"
Svo-
€LO"
8LO"
180"
980"
60"
€G-
69F "
88¥ -
AV
G1G-
Q€S-
06¢-
G9G*
zLO”
9L0"
80¢ "
€1¢g”
y19°
199"
Sy9 -
vL9”
9g9¢"
692"
LT
Ggz-
£62°
zog "
Gog-
60€”
T€EC”
geg-
9v¢”
0G€”
€9¢-
89¢"
TLE"
9TF "

Table 5, entry 9

[\l\l\[\l\[\l\l\l\ﬁl\[\[\l\[\[\LﬂLﬂLﬂmLﬂLﬂmLDNN(\INC\](\INC\](\J(\)(\JC\]NNN(\]HHHH\—IHHHH‘—IHr—i‘—(

ppm

N

T T

10

08¢ "1

Fr0 ¢
—_——
680°¢
T

£00°¢

T T

666 °0

T

0001

—— T

.61

/SLeZ T

€661

Ce6 ' 1



A

£

40952r

ppm

686" 1T

659" T

£99° 1

899" T o

ZL9° T

989" 1

TOL'T

POL"T )

1LO"T B B | —
6557 P =
855°¢ = - —zzi¢
9L5°¢ - —0zT'¢
A AR - -

09% "¢ ;

99% ¢ :

LLy € = AT
€8y ¢

Seb ¢ -

106" ¢

8TG"¢ I — 180" ¢
%8G ¢ ——— —€£0°¢
209°¢ L

L09" €

o ] —ge6 0
GZ9'¢ :

LE9"E :

€9 ¢ o e
099 ¢ :>m"‘f
Z8y° % i ~———
L6Y

T16° % - .

160°G

£60° G

£0£° G

90£°g

e9c L | R Tl
LSZ° L % =X v11°¢
ool NG (0
687" L -

T62 L

662" L ;

€0E" L :

90¢" L = :

625" L T o>

zee L E

PEE L g

8¥E " L W

T9¢" L = L 5

99¢ " L 3 —

69€° L

LT L

0Z¥ " L




vee”
182"
LT
06c’
95¢”
A°AN
9LE”
p8e”
7ot
00¥%”
AN
686"
809°
LCY”
6E9”
9%9 -
LG9
G88”
LLY”
969
vl
€62’
ele”
Tee”
LGG”
LLG”
966"
o18”’
LTTS
Set”
€GT”
LT

6¢8°
9¢€8”
N4
[4°2
8G8°
§98°
660°
¢t
82T~
A

40931

I
I
T
T
1
T
T
T
T
T
T
T — _
I\
I_\\\~
T
T
T
T _
: - —
.
T
.
[4
[4
Z 4
4 - S 7
Z/ —%
3
¥
7
7
74
9
9
9
9
9 h— = =
5 . ~ )
LEEZZF :: — ]
L 5
A/ g
L uwy
=
2
2]
e

ppm

R~ .~

GGT°€
—EL6"T

60T°F

800°¢

£Ee’ 1T

000°¢

—_——

10’ ¢
710 2

—_———



T06°
c1e”
76"
656"
SL6°
96¢"
ete’
Lee”
8e”
LvS”
599°
789°
coL”
TcL-
c1tT”
AR
LY
1697

1ce
6£C”
LSZ”
S8
445
oge”
ove”
19¢€”

4137¢c

N NN N A A e A A A A A OO O OO0

N

o~ o~

W

///

Table 5, entry 12

ppm

o

—Z0L°T

€15 L
1ot

000" 1

— CLG T
—~Cr0T



896G~
£e9”
Se9°
LS9”
099°
L
ooL-
goL”
SLL”
08L”
98L"
86L”
£08°
818"
890"
880"
901"
€19 -
£es’
c59-

29¢’
59¢°
°oLC”
6LT”
43
Sec”
608"
T1¢e”
IR
AN
08¢’
58¢”
Sie”
cze”
cee’
pee”
Bve”
£gg”

o

402:

P T e e A A st e SR e R e A e B B e B e B e |

N NN NN XN

N

N e e e N To Mo WTo NTo WTo WTo o Ty

Table 6, entry 1

Ppm

[ e

— FLO"9
—0Z21°¢2
£L0° ¢

LGS0 ¢

000" 1

— C10° ¢
U810 ¢



4071al

6LG"
009°
€08 "
LTS"
619"
799 -
6L8"
968"
206 °
€16
816"
FeEe”
056"
91-
08T~
661"
ave’
296"
8L6°
910"
66"
Z9¢”
cLe”
qLZ
5LC°
c8e’
68¢C"°
43
56¢C°
86l
60¢€”
(AR
916"
gle -
BEo "
0vé "
096"
9L6"
6L6"
S8¢°
88¢”
£€6C’
ooe”
90¢”
60¢€"
Zce’
BCE "
vee”

Y

L7

[\[\!\[\[\[\I\I\I\QKOkO\OKQKOKOL(')LOLOLﬂLOLOLﬂLF)LDLﬂmmﬁ'mm”)NN(\}HHr—IHHHH\—ir—(u—{Hr—il—i

Table 6, entry 2

ppm

BN

= oo

—/GI1'¢
—\.286°¢C

— ve0 ¢
Fi0°¢

T te———

92 ¢

000" 1

[Q\
—i
™
o



£58”
BLE "
LO6 "
ceT”
641"
981"
SeT”
S1eC”
0ege”
9V’
08¢"
8GG-
886"
~G09”
LFS~
GG69°
L899
LTL”
65¢”
BLE"
GeE”

Qps”
294"
6LST
966"
9LT”
LLT”
S6T°
6eT”
6bc”
A
S9c*
oLz
98¢°
682"
18¢e”
TLe”
98¢
68¢"

4067b3

0

0

:

:

:

;

X s
= —
—F- :

—[ \

L - )
T ’
;

Z

Z

”i

-

o~ o~

\\\V/

R e T S o o S R

Table 6, entry 3

ppm

10

LOT" 2
veZ'9
—CE0 €
—k6c'§

£80°¢

000" T

/S¥0°¢
— LT 1

\L20° 7



T GES”

ppm

99¢-
696"
£88°
S86°

/120" ¢

e L =8£0°¢

== [ 120°%

F8L”
c08"°
cc8’
6€8°
658"
L90"
980"
SOoT”

ZLYT
T69°
e0L”

-

N MM NN N A A e e A A e e

—= ==, : 9%0°Z

9V’
6%
€9¢”
99¢"
08¢”
€8T’
96¢°
66¢C"°
N4
gcLe
LelL”
9¢
vl
0GL”
LGL”
L9L”
168"
AR
798°
TL8"
LL8”
§88°
Feg’
868

— — 000 1

S~ S W0 w0 wwnwn uwin

e\

Table 6, entry 4

-~

- —%10°¢
F o —800°¢

JUL J

N i i el e S e o

~

o~

4153cl




4137cl

cLe”
08¢"
Loe”
y8e”
408
6TV
L9G”
£88°
G8G°
109~
¢09°
rvo-
£€90°
080"
Le0”
pve”
19¢”
AT
LG6 "
6L6"
286"
LOO"
TT0°
0G50°
€S0°
(A72°0
866~
GLG”
43N
008"
918"
YA
£e8’
AAH
658"
L98"
SL8"
788°
T06°
SLT”
43
S6T°
8v<”
89¢”
§8¢”
67"
89¢ "
L8E”

[\l\l\PI\I\I\l\l\LOLOLOLDL()LOLOLF)LDLOLOU’)LQLOLQLOLQLOW‘Q’Q‘Q‘(\]N(\]C\](\](\]H\—%HHH\—I\—!r-lr—(r—!r—l

=== W

.

Table 6, entry 5

ppm

10

00L°571

— 60Z'¢

chec ¢

T ——
T T T

980°¢

—_———

10T ¢

000" 1T

——

000" 1T

/0661
—0€0° 1

966 °T



